Summer Review Packet I | Solutions |

3x* +10x+8  3x?+6x+4x+8  3x(x+2)+4(x+2)  (Bx+4)(x+2) (3x+4)
6x" +17x+10  6x7 +12x+5x+10  6x(x+2)+5(x+2) (6x+5)(x+2) (6x+5)

-8 -2 (x-2)(x’+2x+4)
x—-2 x-2 x—-2

2. X +2x+4

5—x 5—x 5-x o —(x=5 -1

T xP-25 xP-5F (x=5)(x+5) - (x=5)(x+5) Cx+5

4 2x*+5x—12  2x* +8x-3x-12 2x(x+4)-3(x+4) (2x-3)(x+4) 2x-3
x’-16 x’-16 (x—4)(x+4) (x—4)(x+4) x—4

II.

1. Pythagorean: cos’ x+sin*x=1 1+tan’x=sec’x cot’x+1=csc’x
2. Double Angles

cos2x = cos” x —sin” x

cos2x =2cos’ x—1

cos2x =1-2sin’ x

sin2x =2sin xcos x

tanzxzanf
I—-tan” x
II1.
1 I 1 x=(x+h)_ —h
" x+h x  x(x+h)  x(x+h)
2
2. t=2.8-x

1 1 3-B+x)
3 3+x 3_0G+0@) _ —x 1 _ -l
' x x B+x)(3) x 3(3+x)
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4.
2x B 1 B 1 3
X —6x+9 x+1 x*-2x-3
_ 2> 1 1 _2x(x+1)—(x—3)2—(x—3)_
(x=3) x+1 (x=3)(x+1) (x=3)(x+1)
27 42x—x"+6x-9-x+3 _ x*+7x-6
(x=3)(x+1) (x=3)(x+1)
IV.
1.
4x+10yz=0
10yz =—4x
—4x 2x
Z=——
10y Sy
2.

Y +3yz-8z—4x=0
3yz—8z=4x-)’
zBy-8)=4x-)’
2
S 4x-y
3y-8

V.

1. (f+hD)=fD)+h1)=7+6=13
2. (k=g)(5) = k(5)-g(5)=30-+2
3. (fol)3)=f(h(3)=f(2)=4

4. (gok)(7) = g(k(7)) = g(54) =51
5. f7(x0) ={(5,3),(4,2),(7,1)}
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0.

k'(x)=2?
y=x"+5

x=p"+5

x-5=%"
y=%Jx-5 (not a function!)

1
7- = 37% » 27% » 1)%
e {3,9),(2,9),(1,7)}

8. (kg)(x) =k(x)-g(x)=(x" +5)x =3

VI.

VII.

f(x+h)— f(x) :[(x+h)2—2(x+h)]—[x2—2x]

h h
[+ 2xh+ A -2x-2h]-x" +2x
h

2_
:Mvﬂzzﬁh_z

()c+y)3 =x’ +3)czy+3)cy2 +y3

3 5 3+2 3+5 3+4 5 7

X?(x+x2—x’)=x2 +x2 —x 2 =x?+x"—x? [this was a bit strange]

3
Y
== 3
=£+3 |F ( j+ 3
X = 2 :>x:y—+3
y=2t 1 8

- +_+_+—+—:1(1+4+9+16):15
2 2
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201 1 1 1 10
2 —_— T — — —_— = —_— —_— T —
;n' 1 2! 3! 6 6
VIII.
poYe_o Ve 1
Cox Uxfx WVx
2. 1n3:3
3. el+lnv — elnxe = ye
4. In1=0
5. Ine’ =7lne=7
1
6. log, 3° log,3"' =-1

1 -3
7. log18:logl(§) =-3

2 2

8. ln(%jzln(2‘1)2—1n2

4xy X X’y
0. =" B
12x3 y~°
2 2
11 273=(327 =9

1g, 30Dt 3@t n(n=1)(2=2)-..21_3(n+1)
" snl Sne(n=1)-(n=2)-...-2-1 5






